
 

8/31/2021 www.lankota.com   |   Lankota Inc. Page | 1 John Deere and JD are registered trademarks of Deere & Company. 
Lankota is a registered trademark of Lankota Group. 

LANSS21466 

Installation Instructions 
Lankota Jack Stand for 600 & 700 Series John Deere Corn Heads 

270 West Park Avenue 

Huron, SD  57350 

866-526-5682 



 

8/31/2021 www.lankota.com   |   Lankota Inc. Page | 2 John Deere and JD are registered trademarks of Deere & Company. 
Lankota is a registered trademark of Lankota Group. 

Parts List (Numerical & Pictorial) 

Part Numbers Description Qty 
LANSS725M Jack Stand Mount 2 
LANSS725S Jack Stand Leg 2 
LANHH00233 3/4” x 4” Red Handle Hitchpin w/ hairpin 2 
LANSS600MBH Bag of Hardware 2 

LAN600UBOLT U-bolt 5/8” x 2.625” ID x 3.75” Length 2 
LAN079UBOLT U-bolt 5/8” x 5.125” ID x 6.50” Length 2 
LAN619UBOLT U-bolt 5/8” x 6.188” ID x 7.88” Length 2 
LAN690830 5/8” Serrated Flange Nut 8 

LANSS725M (2)  LANSS725S (2)  

LAN600UBOLT (4) 

LANSS00233 (2)  LAN079UBOLT (4) 

LAN619UBOLT (4) LAN690830 (16) 



 

8/31/2021 www.lankota.com   |   Lankota Inc. Page | 3 John Deere and JD are registered trademarks of Deere & Company. 
Lankota is a registered trademark of Lankota Group. 

Kit Installation 

Figure 1 

Refer to Figures 1 & 2 

1. On the outer side of the header’s stock leg, hang the jack 
stand mount (LANSS725M) with the appropriate U-bolts 
from the LANSS600MBH bag of hardware. 

2. Leave about 2” between the mount and the head’s leg 
and tighten the U-bolts. 

Figure 2 



 

8/31/2021 www.lankota.com   |   Lankota Inc. Page | 4 John Deere and JD are registered trademarks of Deere & Company. 
Lankota is a registered trademark of Lankota Group. 

Kit Installation 

Figure 3 

Refer to Figures 3 & 4 

3. Slide the leg (LANSS725S) into the mount and pin 
with the Hitchpin (LANHH00233). 

4. Repeat Steps 1 through 3 on the opposite side. 

5. When you set the head on the ground 

 

Note: If using the Lankota Toolbar Stalk Stomper 
system, you can use the mount (LANSS725M) as a 

replacement for a LANSS615M and mount the toolbar 
to it with the LAN600UBOLTs in the bags of hardware. 

Figure 4 

For further technical assistance, 

Call Lankota Inc. at: 

1-866-526-5682 

CAUTION 

DO NOT USE AS HEADER 

TRAILER LOAD POINT! 
Use standard head legs on trailers. 


